N LBt Y5 — BHSFE 7 BIISFER

*6 8158 CICBBFHRE=DDHOCEDZBH LU TCRNZET

B | B8Is | 87 1758 B | B8is | &7 a3
900 [11:00|&EEFEF v ITF—D)L 15[ 14:00[17:00[E> 25— (SR

4 |4/ 1000[11:00|ZNCTHZEF 900 [ 12:00 |FEBEH=
10001200l EHBBSAT—52 900 |12:30 |hEmAREEEUSETOYR—5—
14:00|17:00| Y25 —Z(SHK) 9:30 | 12:30 D& LU VT —FH=
9:30 [11:30|&mnirEisis 18|y 1000| 1200|N\D1 P> 25
9:30 | 11:30|155% 1300|1600 |Z&LAVST (1K)
10.00[11:00|56<E2FT v TV 13:00| 16:00 |/ \ A EEEE

3 (Al 12:3830(13:30|FvOmMouT+1 X 19:00| 20:00 | ZDeEEHBH =
1300|1500 |KEE (BIFFEDE) 19:.00| 20:00|F v ORD YT+« X
14:00( 16:00|3NHBIRDEN) 9:30 (1300 |FEEZEEBHBIOINDE >N URE
1800 21:00| Y245 —Z(SHK) 10:00| 12:00 | hEEELER
9:00 [1200[)I1ED LY (8ER) 19|k[ 13:30| 1530 |\ =L\ =41
10:00(11:00|03 ~ U1kl 14:30 | 18:30 | H:EE8

4 |W[13:00|1600|Z2&LADST (1K) 15:30| 19:30| Y 1 Z kg
19:.00| 20:00 |ZDEEEZEHR 930 114500 w ERR | AVREE
19:00| 20:00|F v ORDYH 1 X 1000 11:00|5< BT v IFTVR
9:30 | 1300 | EEEEBZH O VESEEDUE | 5 4| 10:00| 12:00 Vv —TJIFR
10:00| 12:00 | EEEBERDHHTDL D MF02E] 1115(1215|(FEHL—ZVD

5 K| 13:30| 15:30 |\ =0 \=ikig 1300|1500 |Z2&L@AIST (51K)
14:30|18:30 |xEE 17:30| 21:00 | 815555
15:30|19:30 |V 2 = Pikig 900 [12:00)I1EDLU YT (&8)
1000 11:00|6<ERFTYTITVR 9:30 [ 1530 |3 >< BFR/INVHE

6 [ 11:15[12:15 EfHLL—ZVT 21 |&| 930 |11:30|BmH&L/NVDY
13001500 |Z2&L@ADST (S8K) 1400|1700 0= LEP JH=ZE
17:30|21:00 |8lz5EE 16:00|21:00|Y 2 =ZPRYEBF
9:00 [12:00[/IIEDU VX (&%) 900 |[11:00|&EAFFT v IH—DIL
9:30 |11:30|=mHh&LUL/NV DY 22|%| 10:00| 1200 |1l ERBEAI—52

7 | 13:00| 16:00 || L HRARE L HIERES 14:00| 17:00|EY 25 —Z(SHK)
1400|1700 (D LWEP JH=E 930 [11:45[H0 0w ERRR | AVRHEE
16:00|21:00|Y 1 =ZPRYEF 9:30 | 11:30 | EnDiT SR
900 [11:00|&EEFEF v I =D)L 9:30 | 11:30|155%

9:30 |12:30|icexHzE = 24 8| 930 |11:30|)IlLR:%

g || 10:00| 1200/l EBBEAI-52 12:30(1330|F v OMROP+4 X
10:00| 1300 | FEBEEXILHZET VU Rk 1300|1500 | AEE (HIFIFDOE)
1330|1530 |cEy=xr = 1800|21:00| Y25 —Z(SK)
14:00|17:00|EY 25— (SHK) 9:00 [12:00[JIIEDL VX (SK)
9:30 [11:30|&mnirEirig 900 | 12:00 |REH=
9:30 [11:30|)Il EREE 10.00(11:00|03 ~Uiki2
10.00(11:00|5<E2FT v TF V2 o5|w| 1300| 16:00 ZERADST (88

10|18 12:30| 1330 |F v OROY Y+ X 13001500z TLCE
13:30(1530|7 « 2SS (=ZFAUF) 13:00(15.00|)II.ESCD
1345|1545 |&=ER 19:.00| 20:00 | ZDEEEEH =
1800|21:00| Y245 —Z(SHK) 19:.00| 20:00|F v ORDYH A X
9:00 [1200[/EDU Y (81R) 1000[ 1200 | EEEBRECEEPD—FSFSTPOEY ) —
9:00 | 12:00|g&#z=E 10:00|11:00| DI PRFTY T
10:00(11:00|03 ~UiklR 26|7K 13:30| 1530 L =0\ E1rig

11|N] 13:00| 1600 | Z2LRADIST (S8K) 14:30| 1830 | wxEE
13:00(15:00|)11 ESCD 15:30|19:30| Y2 = PixiE
19:.00| 20:00 |ZDEEEH= 10.00[12.00|RVE=Z
19:00| 20:00|F v ORDHGH 1 X 1000 11:00|5<ERFT v IFTV2
930 [1330[anpE 27N 1115|1215 |EHH FL—2V Y
10:00|11:00 (RO I PRTY T 1300|1500 |Z&L@ADST (1K)

12[K[ 13:30| 15:30 [\ \=( \=1k12 17:30| 21:00 | 815588
14:30|18:30 | mEE 1330|1500 |[FEEECEEPD—Ew Ty TF Y AHE
15:30|19:30 |V a2 Z Pk 900 [ 1530 |h#itthX*t17
10.00[1200[~RVE= 28|&| 930 [11:30|BmHrL /YTy
10:00[11:00|5< BT v ITFTVR 13:00|17:00 |7 H)F

13|K|11:15|12:15|ZEHL—Z2V 16:00|21:00|Y 2 ZPRYEF
1300(1500|Z2&L@ADST (1K) 830 [12:00|sATER
17:30|21:00 |8l55EE 5g|4| 900 [11:00 ERFFY IH—D)L
945 [11:30|FBTAPYR 10:00|12:00 )1 EHBSATI—S52

1alg| 930 [11:30|@N& L/ YT 12:00 | 17:00 | FHEFBRERH SR T D = 2B
13:00|17:00 (72N> 30(8| 9:00 [ 17:00|FrezdmEm @D T 2
16:00|21:00|Y 2 ZPRYEBF 9:30 [11:30[4£anniTErig
900 [11.00|&EE&EF Y ZHF—D)L 31 |g| 1000 11:00 5E2TvTFT YR

15(£[10:00| 12:00 )1l ERBSATI—52 12:30(1330|F v omOuH+« X
13:30|16:30|/\2F)LE 1800|21:00| Y25 —Z(SK)




